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TNSTRUCTIONS TO CAITDIDATES

Resd the Jbllowing instructiotls carefully beJbre
you qnsy)er the questions on Ansy,er Sheet :-

1. Wrire Roll No. as given in admission card
on this Question paper as well as on the
Answer sheet.

2. Write all the Nos. in English only. Write only
one digit in one block.

1

qFI-I qr{fu6+.TdI
rrrFr - 90 ft+e ( .oo t rz.:o ei a-+)

1lt* - m

PART-I MENTAL ABILITY
Time - 90 Minutes (11.00 to 12.30 p.m.)

Max. Marks - 90

IIFI - II EYf6 frqdl
rFr.r - eo ft{e (rz.as t z.rs ei a-o)

(2.+s ei a-* EF-{rlqd + ftq)
grt+ - m

PART - II SCHOLASTIC ABILITY
Time - 90 Minutes (12.45 to 2.15 p.m.)

(Upto 2.45 p.m. for
Blind Candidates)

Max. Marks - 90

P.T.O.



3. q6 qtffi A qr.fr t ff er l& t rq-d6 rrn {
go rrq t r rrfr ctq 55a slffrqrd ft r

q-d6 cr-{ + fts I sio t+rtfur t r

4. e*4 v& rtr al q+ eio q-qn t6qI qtg.n t

s. sqq qq ffiq qr.I + ffrc ortrrl-orcrrl
ts<rt rr-.rtr fsg t r qrq d sflq61 erqt s-t-<

t=itr< qm t s-rr r{-6 qt fi fqfea o-ri t t

e. Ee qftryr & q-&m qrr fi ftg ffiqa lrrq ol
ffli-rur t6qr rqr t r onq ffi \16 crc * ftrE
qrqr F{q q riElrt 5q trqifud ffiq 6r sgq+.r
q.tt

7. qFr-I (qnfu6 tqdl) al lz.:o
qfr ao tqrq 6r d q srr-carr ftftq-o +1
gro arre ott r rnt-rr (rtik6 q\.c-dl) +
ctrr rr* 61 12.45 t 2.15 {q irr'g<t or wb
srr-Errr Frfta-o o1 qrqfr 6tt t

8. w qeq-q{ or oiftq ts rs 6d + ft{t ftqr
rrqr t t

s. sfi ?i z5r t+t ;

s<-r ti t ftq d.gq.orr<. sm qro { {riftre
qeq $ qr{t ftt.rt qn.H + t }.+d q6
.tfr o1 Xrr o,ror dfug t

lo. srR Sfaa qri * fuc *s-d qrf,I/+dl
fd-qriz tc 6r rftI q,t t

tr. ffi ff v-on * *_cgd-.(, frr tke qr erq
Mr6 sr6et, dqr{d qt{ silft ot q-ftr
qftto t t

tz. autrr rafa -
tro crq * qrr (rTrfud rr< t, a<it t qo sc<
vfr t rcrc 6r sfi st-t sift-< stG t q6 oi6
c1q d.n r qft f'o t qro'td 6rfr H qrfr t
d qo qrqr qrkn t6 q-ftrrff o1 crc 6r s&
at-r q-€t qrqq t slr st 6Ii oi6 i-€i frE qrtt I

rl. sm rira frtq-+ ql tiq-q -
trftro o1 sm ttu dffi + qEA gftftq(
o-r d t+ r+t rte * ffi gd w v& {tdd
*t - ilq, td qqr, 6erqrt, eerl gP€-6r o.r
qq( qft t+tift-d sn q< &o-&o qt.ri t t

ra. sm rtc + sqch d <nqrft -
uu a 11. qn e'*rr 6TA sqq qt il€ t ffsqrft
qG rgt s-.i, B qI q?F[z.t-si t E{rq
cdit t

15. !f,.rttt rarr a qE[ ltrr qr+ ffra-o et
*a aiqq r

NS.1

3. This test is in two parts. Each part contains
90 questions. All the questions are
compulsory. Each question carries I mark.

4. Every correct answer will be awarded one mark.

5. The answer sheets for Part-I & Part-II are

different. Remember you have to mark your
answers on related answer sheet.

6. Since the time allotted to the two parts of
this Question Paper is limited, you should
make the best use of it by not spending too
much time on any one question.

7. Sotve the Part-I (Mental Ability) of the

Question Paper by 12.30 p.m. and submit
Answer-sheet of Part-I to the Invigilator.
Part-II (Scholastic Ability) should be solved
in between 12.45 p.m. to 2.15 p.m. and submit
Answer sheet PartJI to the Invigilator.

8. The last page of this Question booklet is
meant for Rough work

9. Method of marking Answer -
To answer a question, please darken one
bubble out of the given four, in the OMR
Answer Sheet against that question.

10. Use only Black / Blue Ball-point Pen to
mark the answer.

11. Use of any calculator, Log tables or any
other electronic Gadgets, Mobile phones is
prohibited.

12. Valuation procedure -
There are four alternative answers to a
question, only one of them is correct.
One mark will be given for correct answer of
the question. If more than one bubble are

darkened for a question, it will be presumed

that the candidate does not know the correct
answer, hence, no mark shall be awarded.

13. Handing over the Answer Sheet to
Invigilator -
Please ensr.ue that all entries in the answer sheet

are filled up properly i.e., Name, Roll No.,
Signature, Question Booklet No., etc.

14. Ca,re in Handling the answer sheet -
While using answer sheet adequate care
should be taken not to tear or spoil due to
folds or wrinkles.

15. Please return the Answer-Sheet to the
invigilator after the test.
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I of.R L=+, M:-, N:x, P:: *
5N5P5L5M5:?
(A) 0 (B) 5

(c) r0 (D) 15

wdtuq-
(16-5)+Jxl:r
(A) 62 (B) 2

(c) 10 (D) 26

sl si6 Erd dfqq * ffi qo fr srrftd
i{rS{t r

2

3

(A) I
(c) s

4 gq {sr ara of r

(A) 4l
(c) 64

(B) 3

(D) 7

(B) 3s

(D) 61

NS.1

(A) 4r
(c) 64

P.T.O.

cftsil +s : NS-l
1TFI-I:qrifufi+.{il

PART_I : MENTAL ABILITY

)

I If L:+, M:-, N:x. P:-, then
5N5P5L5M5:?
(A) 0 (B) s

(c) 10 (D) 1s

Solve -

(16-5)+5x3-?
(A) 62 (B) 2

(c) l0 (D) 26

Find the number which is present in only
one figure.

(A) 1

(c) 5

(B) 3

(D) 7

4 Find the missing value.

(B) 3s

(D) 6l

3

3



fftn ,-
d t gq {i@r (?) sro at r

(crc6qi65t9rdE)

5

6

(A) ll
(c) 3s

(B) 28
(D) 48

(B) 20
(D) 8l

(B) 12

(D) e

(B) 140
(D) 130

3
425

f

9 ?

2

7

9

(A) 64
(c) 32

24 30 30

6

(A) 19

(c) 21

(A) 144
(c) 124

(A) 6l
(c) 36

43 43 62

t3 ?

8

9

4

Ya+ 8l\
,) 19

NS.1

(B) 84
(D) 48

(B) 84
(D) 48

J

Direction :-
Find the missing number (?) in each of the
following questions. (Q. No. 5 to 9)

5

(A) 11

(c) 3s
(B) 28
(D) 48

6 3 .l25

l

9 ?

7 24 30 30 43 43

2

(A) 64
(c) 32

6

(A) le
(c) 2r

(A) 61
(c) 36

(B) 20
(D) 81

(B) 12

(D) e

62

l3 ,!

8

(A) 144
(c) 124

(B) 140
(D) 130

I

Ya+ 8x
( 4\



10 eo of :-
1l .+ 19

l6 1 ?

t4 I 100

(A) 144 (B) 96
(c) 120 (D) 169

frtn ,-
f+qftfc( c't dr{-fr uFe t-fi 6tr{r otft t,
(crc mqr6' rr t 14 (6,)

1l Mirror

QUICK

(A) rcrug
(c) )crng

Mirror

(B) )Jrug
(D) KfIUQ

(B) rq6ss
(D) r962a

N

N

i(
l(
i$t(
rot(

l2

l3

t1

)i(
)t(

N
(A) rQAsa
(c) 3ed2s

Minor

(A) (B) (c) (D)

tzzzzzzzzzzzzzzz Mirr or

N tI- \ 7
(.4) (B) (C) (D)

5NS-1 P.T.O.

l0 Solve :-

lt 4 49

l6 4

T4 4 100

(A) 144 (B) 96
(c) 120 (D) l6e

Direction:-
In^ the lollowing questions visualize the image
of the correct image :-
(Q. Nos. tl to 14)

I I Mirror

QUICK

(A) )Crug
(c) )crn0

Mirror

(B) rq6s5
(D) t962a

t2

r3

74

52693

(A) eQdsa
(c) 3 ad25

Mirror

(A) (B) (c) (D)

Z
rzzzzzzzzzzzzzzz M in or

N tr- \ 7
(A) (B) (c) (D)

Z

52693

_t_

-L ),,
-f

(B) ))ru0
(D) K]IUQ

_t_

-L )" T



15 SIIR MADRAS 6} NBESBT ft{dt, *
BoMBAY 6] H 6tE 6tt ?

(A) CPNCBX (B) CPNCBZ

(C) CPOCBZ (D) CQOCBZ

16 OTTR'.CONSTITUTION', 6}
..OCSNITUTITNO" Ifi&t, d
..PRESIDENT'' d ifr ftTdt ?

(A) RPESIDNET (B) PRESDIENT

(C) RPSEDINET (D) SEDIENTRP

I7 GTIK S,E CrsI q, ..CHAI!PION'' ft1

"NoIPMAHC" Et ft{dt +
"NEGATIvE" *1 5g 6Is ott ?

(A) ENAGITEV (B) MGAETIVE

(C) EVITAGEN (D) EVITGANE

18 aFKASHOTOTATS ZHSLPt,+ TARA

aT q,ts flI +tn ?

(A) GZIZ (B) ZVG

(c) rzGZ (D) zcrz

19 qfq CAFE 6'r ots 3165 t aln moE at
6'ts 894s t, d rmao ar ats €r dn ?

(A) 8514 (B) s8l6

(c) 9s16 (D) 8154

20 fr q,q"l qrd t srr< or t, d sfr ergffi

c t foe-or qqq Sm ?

(A)G G)I
(c)H (D)J

NS-1

15 In a certain code, MADRAS is coded

as NBESBT. How is BOMBAY coded

in that waY ?

(A) CPNCBX (B) CPNCBZ

(C) CPOCBZ (D) CQOCBZ

16 If "CONSTITUTION" is coded as
..OCSNITUTITNO'" thEN

"PRESIDENT" would be coded as -

(A) RPESIDNET (B) PRESDIENT

(C) RPSEDINET (D) SEDIENTRP

17 In a certain language, "CIIAMPION"
is coded as "NOIPMAHC " ' How is
"NEGATIVE" coded in that code ?

(A) ENAGITEV (B) MGAETIVE

(C) EVITAGEN (D) EVITGANE

18 If ASHOK is coded as ZHSLP, how will
TARA is coded ?

(A) GZIZ @) ZIZG

(c) rzGZ (D) zcrz

20 If March is to August. then C is to
?

(B) I
(D) J

(A) G
(C) H

6

1

't
I

lg Il CAFE is coded as 3165 and HIDE

is coded as 8945, how will You encode

HEAD ?

(A) 8s14 (B) s8t6

(c) 9s16 (D) 8154



fr{n ,-
cpq6qf62tt25+HHrtffis+
oIItIrt rr{ qtrl Em oftE I

2I BCG : DCG :: EGU : ?

(A) rGU (B) GUJ

(C) UIG (D) IUG

22 EJQ : FKR :: IPY : ?

(A) row (B) Hox
(C) GNU (D) HMT

23 LTSK : MUTL :: ? : MUVN
(A) LTUM (B) NMUV

(c) NVWO (D) Nowx

24 ? : KRSL :: PYXO : OXWN

(A) RSLK (B) JQRK

(C) JKRQ (D) QRKJ

25 JQS : PWY :: KRT : ?

(A) ovx (B) PwN

(c) owY (D) vox

F
L
T

MNOP
UVWX

C D

JK
RS

GHI

NS-1 P.T.O.7

Direction:-

Solve the following questions from given
pyramid : (Q. Nos. from 2l to 25)

2I BCG : DCG :: EGU : ?

(A) rGU (B) GUJ

(C) UIG (D) IUG

22 E.IQ : FKR :: IPY : ?

(A) row (B) Hox
(C) GNU (D) HMT

23 LTSK : MUTL :: ? : MLI\N
(A) LTUM (B) NMUV

(c) NVWO (D) NOwx

24 ?: KRSL::PYXO: OXWN

(A) RSLK (B) JQRK

(C) JKRQ (D) QRKJ

25 JQS : PWY :: KRT : ,?

(A) ovx (B) PwN
(c) owY (D) vox

JKLMNOP
QRSTUVWX

C D
EFGHI



trtst '-
tIqftfuT rre <Tr ttt ffiq tR (odd one out)

o1 erq.r Eifuc - (seq 26 + 30 il6)

26 (A) t{sq{
(c) qd

27 (A) {rql
(C) rrqEqrt

28 (A) Tft-dr

(C) q+o

29 (A) g-dr

(C) rir6 IE

30 (A) 6,r{

(c) dq

32 9x9-8+9xl
(A) s6

(c) 63

(B) st+t
(D) gffi€

(B) rrft
(D)'i*

(B)'{r{
(D)'rfffr

61 ttft u-e

(D) lIn T6

(B) +q-gr

(D) qrq{

(B) 5

(D) 73

tfrqr t-
qfr + oT atd t, - or or{ +, x 61 + sfi1 -:-

or srd - t, * c?q 31 t 35 A rft-o'er Tq
lr(Eg I

31 21 +8+2-12x3-?
(A) 14 (B) e

(c) 13 (D) ll

33 6+4+3x3 1

(A) 24

(c) 18

(B) 28

(D) 14

NS-1

Direction :-
Choose the odd one out from the group.

(Questions from 26 to 30)

26 (A) December

(C) March

27 (A) King
(C) Princess

28 (A) NePhew

(C) Cousin

29 (A) Libra

(C) Mars

30 (A) Ear

(C) Eye

32 9x9-8+9x1
(A) s6

(c) 63

(B) February

(D) July

(B) Queen
(D) Minister

(B) Brother

(D) Nieces

(B) Saturn

(D) Venus

(B) Lung
(D) Nails

(B) s
(D) 73

Direction :-
If + is x, - is *, x is -: and + is -, then

what is the value of given equation ?

(Questions from 31 to 35)

31 21 -8+2 12"3 '1

(A) 14 (B) e

(c) 13 (D) ll

33 6+4+3x3-1
(A) 24

(c) 18

(B) 28

(D) 14

8



34 49x7 3+10-:5
(A) 23 (B) 12

(c) 32 (D) 2l

35 10+10x10 l0+10
(A) l0 (B) 20

(c) 30 (D) 40

Gr?n '-
t,r€ *ff fr q{ft fiqr Erd dfqq r

(cra 36 t a0 a-o')

36 4, 10, 18, ?, 40

(A) 24

(c) 32

(A) 28

(c) 67

37 1ro, ee] sd, ?, s4, 3s

3+3+3
(A) e

(c) 28

(B) 28

(D) 36

(B) 81

(D) 7l

(B) 12

(D) 40

38 FTqftfud aiqd 6l qu wr t ?

3x3x3x3
?

39 CBA, HGF, MLK, ?

(A) RQP (B) vwx
(c) vrJw (D) TrJV

40 AB, DER HIJK, ?, STUVWX
(A) LMNoP (B) LMNOR
(c) MNOPQ (D) QRSrU

NS.1 P.T.O.

34 49x7 3+10-5
(A) 23 (B) 12

(c) 32 (D) 21

35 l0+10x10-10+10
(A) 10 (B) 20

(c) 30 (D) 40

Direction :-
Find the next terms of given sequence.

(Questions from 36 to 40)

36 4, 10, 18, ?, 40

(A) 24

(c) 32

(B) 28

(D) 36

37 110; 99, 86, ?, 54. 35

(A) 28 (B) 81

(c) 67 (D) 71

38 What is the value of the following
expression ?

3x3x3x3

-_.,

.)+J+J
(A) e
(c) 28

39 CBA, HGR MLK, ?

(A) RQP (B) vwx
(c) vuw (D) TUV

40 AB, DEF, HIJK, ?, STUVWX
(A) LMNOP (B) LMNoR
(c) MNoPQ (D) QRSrU

(B) 12

(D) 40

9



Ftttt ,-
ftq.rqffitttqqalffiq r

(crq 4l t 50 (n)

4t (B) 24, t6
(D) 22, 22

(A) 28,

(c) 32.

t2
8

42 (A) 30,

(c) 2s,

43 (A) 2, 3

(c) 6, 1

12, 28

49, 64

46 (A) 2, 6
(c) 3, 5

47 (A) 64, 3

(c) 64, 2

48 (A) 361, 19

(c) 28e, r7

49 (A) 88, 4

(c) 120, 6

(B) 34, 15

(D) 26, 6

(B) 3, 2
(D) 0, 6

(B) 2s, 36

(D) 100, 121

(B) 26, 13

(D) 30, ls

(B) 3, 4
(D) 6, 2

(B) 64, 4
(D) 64, 8

(B) 324, 16

(D) 22s, rs

(B) ee, 33

(D) 141, 4

l0
5

(A)

(c)
44

45 (A) 24,

(c) 28,

2

5

I

I

12

2a

(A)
(c)

50

NS-1

(B) 23

(D) 3s

10

(B) 23

(D) 35

I)irection :-

Choose which is different from the other.

(Questions from 41 to 50)

4t (A) 28, 12

(c) 32, 8

42 (A) 30,

(c) 2s,

43 (A) 2, 3

(c) 6, 1

44 (A) t2,28
(c) 49, 64

45 (A) 24, 12

(c) 28, ls

46 (A) 2, 6

(c) 3, s

47 (A) 64, 3

(c) 64, 2

48 (A) 361, t9
(c) 289, t7

49 (A) 88, 4

(c) 120, 6

so (A) 22

G) 24

(B) 24, 16

(D) 22, 22

(B) 34, 15

(D) 26. 6

(B) 3, 2
(D) 0, 6

(B) 25, 36

(D) 100, 12r

(B) 26, 13

(D) 30, ls

(B) 3, 4
(D) 6, 2

(B) 64, 4
(D) 64, 8

(B) 324, t6
(D) 22s, ts

(B) ee, 33

(D) 141, 4

l0
5



51 triiff rq-a1rr * orgvn, ftt qg rd or
$& mq drc-qr *qr ?

Tune (2) Tone (3) Taste (4) Truth

53 sfud 6q t ftrd r

€5q (2) qd_l Tff (3) {6rff R

54 tTqifrfu-d 61 6.q ergvn fta-d

t_s (3) d6S
fiqr

55 Frqftfud ol ar ergvn ftrd
fr'dr
{ral

)
)
)
)

1

4
I
2

4
I
4
5

(l)
(l)
(4)
(3)

(1)
(l)
(s)
(s)

(3), (2), (

),((2(3),
(5), (2), (
(3), (4), (

TIITI

f+oreu-s

).(
),(
).(
),(

Task
(s),
(s),
(3),
(l),

(1)
(s)
(A)
(B)
(c)
(D)

)
)
)
)

4
4
I
1

(
(
(
(

(2), (
(2), (
(2), (
(3), (

(l)
(4)
(A)
(B)
(c)
(D)

(1)
(4)
(A)
(B)
(c)
(D)

(l)
(3)
(A)
(B)
(c)
(D)

ftTr-<

(2),
(3),
(4),
(4).

(s)
(3),
(2),
( 1),
(2).

(3),

(3),

{&
(4),
(4),
(2).
(4),

dr'&
(s).

(5).

2-q-d

q lvl

(2)
(s)
(5),
(s),
(3),
(2),

(2),
(2),

(2)
(4)

l), (4
3), (4
4), (l
2), (r

(2),
(3),
(3),
( 1)"

(s),
(s),

(3
(r
(3
(4

)
)
)
)

),
),
),

),

1NS-1

(2
(2
(2
(3

1), (4), (3)
3), (4), (1)
4), (r), (3)
2), (t), (4)

P.T.O.

5l Which will be the correct order of the
given words as per English dictionary ?

Tune (2) Tone (3) Taste (4) Truth
Task

52 Which wilt be correct order of the given
words as per English dictionary ?

53 Write an appropirate order :

Sea (2) Big river (3) Ocean

(1)
(5)
(A)
(B)
(c)
(D)

(5),
(5 ),
(3).
(l).

(2),
(2),
(2),
(4).

(3),
(3).
(s),
(3),

lri
(4),
(4),
(2),
(4),

(4),
( 1),
(4).
(s),

Glaci

), (1)

), (l)
), (4)

). (3)

5)
(2
(3
(3

(l

(2)
(3)
(4)
(4)

(3
(2
(2
(3

)
)

)

)

I
4

I

2

(
(
(

(

(1)
(4)
(A)
(B)
(c)
(D)

(1) Epitaxy (2) Episode (3) Epigene
(4) Epitome (5) Epilogue
(A) (r), (2). (3). (4), (s)
(B) (3), (s). (2). (1), (4)
(c) (s), (4), (3), (2), (1)
(D) (3), (2), (s), (4). (l)

(4) Seed (5)
(A) (4), (s),
(B) (4), (s).
(c) fl). (3).
(D) (1), (2),

Smal
(s),
(s),
(s),
(s).

ver
(3)
(2)
(l)
(2)

ers

54 Write the fol
(l) Table (2)

lowing in order :

Tree (3) Wood
Plant

),
),
),
),

(l)
(l)
(s)
(s)

55 Write an appropriate order
District (2) Village
State (4) Block

(1)
(3)
(A)
(B)
(c)
(D)

).(
).(
).(
).(

1

52 trtift rrq-sfur * er5vr<, ftt.rg srd 6r
c& mq otc-v +rn ?

(l) Epitaxy (2) Episode (3) Epigene
(4) Epitome (5) Epilogue
(A) (l), (2), (3), (4), (5)
(B) (3), (s), (2), (1), (4)
(c) (s), (4), (3), (2), (l)
(D) (3), (2), (s), (4), (l)



s6 <{"r t ffit srtr Elq drc fr Ehn ?

+
+ + +
(A) (B)

s7 rtl orffi

rrr orgFaef

(A) (B)

58 urq enpft

59 urr orgfu

st-t orEM

(c) (D)

(c) @)

1 -*11 tl11 ?

c-m oflEftd

(A) (B) (c) (D)

r+-N # I

\\\iN # N N
(A) (B) (c) (D)

$ tt $$g )

tttt rtt t tt

<_<-(-
<_

+- .JJJJ .1111 1JTJl

NS.1

56 Find the mirror image of the figure -

+
++ + +
(A) (B) (c) (D)

57 Problem Figure

Answer figures

59 Problem Figure

Answer Figures

58 Problem Figure

1 J111 ?

Alswer Figures

(A) (B) (c) (D)

(A) (B) (c) (D)

/+ l*<-\
/l/# ?

\\\N # N N
(A) (B) (c) (D)

o

t tt $$$ I

mlr?rtt t tt

+-<_<_
<_.

+- .IJJJ .1111 TJlJ1

+

/+

t2

-'11



r

60 cer oTr5'ft

6l vx orgfr

2

vm errg;M

=

]V

Er{ oTrfiad

63 urt wrgft

s-tr urgfuai

(A) (B) (c) (D)

(A) (B) (c) (D)

(A) (B) (c) (D)

62 url o+rgft

IIrt I

st-r orpftei

l /.....*\J /z

I<_
(A) (B) (c)

H

(D)

NS-1 13

(A) (c)

P.T.O.

t

60 Problem Figure

I

Answer Figures

6l Problem Figure

Answer Figures

62 Problem Figure

Ansu,er Figures

63 Problem Figure

Answer Figures

1

=

V
(A) (B) (c) (D)

(A) (B) (c) (D)

l /...*\l /z
1<--

(B)

<---.->

(D)

IIIT

,)

a &

(A) (B) (c) (D)

?

a a a



64 crl oTry'ft

rrr ergM

65 fae at qrr 6t t

66 urn wgft

am olrfftEi

?

(A) (B) (c) (D)

(A) (B) (c) (D)

(A) (B) (c) (D)

t
,)

NS-1 t4

64 Problem Figure

Answer F igures

I

AEv:
(A) (B) (c) (D)

65 Complete the figure.

66 Problem Figure

Answer Figures

(A) (B) (c) (D)

(A) (B) (c) (D)

I

AAtr

V rsllj/ V v

AAtr

N"]bJ v V v

o o ?



67 crq oirfft

sfi srrffrd

I
(A) (B)

68 c9r oTrEft

(c) (D)

str{ onfldsi

A
(A) (B)

69 cen BnEid

(c) (D)

I ?
|| liltl

sfl oTrfftqi

(A) (B) (c)

70 qrM fud a1 {Foq r

a-<r errfff,qf

+

(D)

(A) (B) (c) (D)

I

?

w ?

NS-1 15 P.T.O.

)

67 Problem Figure

Answer Figures

I
(A) (B) (c) (D)

68 Problem Figure

Answer Figures

A ,)

(A) @) (c) (D)

69 Problem Figure

Answer Figures

l ? illt ililt

(D)

w ?

Answer Figures

(A) (B) (c) (D)

1
H ?

Ir

A

X

@ o

2

!t
(A) (B) (c)

70 Find the last picture :

A

@ o +



7t qr+ils*cftSfttdvast
dn-m oi6 *rn ?

(A) 3

(c) s

(B) 4
(D) 6

72 FrqftfuF ergmq t fttdi 8 t d g.d 6

fr' er< sTIt t ,*t s t rr6d sTrA t ?

68578543681985468296
81368s36
(A) 1 (B) 2

(c) 3 (D) 4

73 369 + sTrr] 6'1 2/3 t6qt q<r{( t i
(A) 123 (B) 246

(c) 321 (D) 169

j4 ftnS om t qin qr relFi s(rr t 16 d
t ctr fr t ts(ol €rr< 37 d t d o,rr

t g'd Miftii d tier trqfttu( q t
mrdft ?

1a; tea ut$ t
(B) s4

(c) 53

(D) s2

75 srft( Td ftm t ts ffi,rqr, as q6 qr+

gq6-( 5 ffi qm, t6{ qr{ 556r q6

ts ffi rcr, d srk( er<Rr6 ern t
ffi6t ?

(A)sffi (B)3sffi
(c) 15 ftFff (D) 30 ffi

NS.1

,l

7l What is the number of dots at the

bottom face of the left hand side dice ?

(A) 3

(c) s

(B) 4
(D) 6

72 How many 8's are there in the follow-ing
sequence which are immediatelY
preceded by 6 but and immediatelY

followed by 5 ?

68578543681985468296
81368536
(A) l (B) 2

(c) 3 (D) 4

73 Find the value of 213 of half of 369 is
equal to -

(A) 123 (B) 246

(c) 321 (D) 169

74 In a class, Janesh's ranked l6th from the

top and 37th from the bottom. So what
will be the total number of student in
the class ?

(A) Not appropriate information

(B) s4

(c) s3

(D) s2

75 Amit went 15 km in the east direction,
then he tumed left and walked 5 km,
then he tumed left and walked 15 km,

how far is Amit from starting Place ?

(A) s km (B) 3s km

(C) ls km (D) 30 km

16



76 \r*, qkdr sTq-ft qt * .Tr{ A + & w t
fro qrEft or cfr{q tft t r qs gw rkrr
t ar+ €tRrd t ?

(A) qm (B) q_dr

(C) qtrr qr{ (o) +.r

77 cIT{ E:5, HEN:27, PEN: ?

(A) s3 (B) 3s

(c) 36 (D) 63

78 €IIR T:20, TEN:39, ils TIP: FII
r,tn?
(A) 70 (B) 4s
(c) s4 (D) 6s

ft{n,
lfid q 'I' o.r orei qr.ftc t,
'S' i5,I srei fuft-6 t ,:lrr .p. or sT{ Tril+dr
t r (qsc 79 \,Ei s0)

79 qr.ffqEn rrqidr t Af6i funft-* Te- t
(A) a (B) b
(c) d (D) f

80 ffir-6 d rrstdr t, tF6-{ lTlre.q r-& t _

I S

P

NS.1

(A) d
(c) f

(B) e

(D) e

17 P.T.o.

76 A woman introduces a man as the son
of the brother of mother. How is the
man related to tlte woman ?
(A) Uncle (B) Grandson
(C) Cousin (D) Son

77 If E: 5, HEN:27, PEN: ?

(A) s3 (B) 3s
(c) 36 (D) 63

78 lf T:20, TEN = 39, then TIp = ?
(A) 70 (B) 4s
(c) 54 (D) 6s

Direction :

In the following diagram,

'I' represent "Indians,', .S

"Scientists" and .p, represents
(Question 79 and 80)

79 Indians those are politicians but not
scientist will be -
(A) a (B) b
(c) d (D) f

80 Scientists which are politicians but not
Indians *,ill be -
(A)d G)e
(c) f (D) e

represent
'Politicians'.

I S

P



81 tqr-ftatffitiTqt ?

(A) 16

(c) 14

83 glffiqr

(A) t-{d

(c) tq

iffi

g4 fr<r : arnNTr

(A) qq

(c) qt
NS-1

:ffi: ?

(B) f6-drs

(D) 6-ffi

e-o-.& ; ?

(B) tr
(D) I5.ffq(

ffttrr ,

Frqfdfu( t (::) t qrt fr( ftrd glo rrdr I

oiait t qrs< ritiq t ,:ln tsr fr diiq (: :) fufl

fi srf{i *{ * qd t t r d fu 'tq tq-deit

t t ts-g< q-< (?) d grot futuq t

(can 82 t 87 il6)

82 gql=Ir q{ : {sr<6 ' fuq : ?

(A) ftttr6 (B) tq-d6,R

(c) {Ft (D) <-ff

8l Find number of triangles in figure'

(A) 16

(c) 14

(B) ls

(D) 13

term (?).

(Q. from 82 to 87)

82 NewsPaPer : Editor : : Film: ?

(A) Director (B) Painter

(C) CarPenter (D) Tailor

83 OxYgen : Life :: ElectricitY : ?

(A) Table (B) Book

(C) LamP (D) Pen

84 Gold : Omament :: Wood : ?

(A) Garments (B) Bags

(C) Shoes (D) Fumiture

18

(B) rs

(D) 13

Direction :

There is some relationship between two terms

in the left hand side of (: :) and the similar

relationship exists between the two terms on

the right hand side of (: :)' Write the missing



85 289: 17 :: 144: ?

(A) 12 (B) 13

(c) 14 (D) ls

86 fuq6 ; qp167 : : qgff qarq : ?

(A) sg-_6, (B) art{6

(c) sidft{ (D) Tff

g7 rrGrl : zd

(A) +€

(c) +s

S'a
(B) tr
(D)ftsr

88 qdqTdT + D * a-oro srt €r ondr t ?

(A) M (B) Q

(c) E (D) c

89 ftt frA srH-t 61 ,:itft er<-61ar *
€[gsR qqrt ofR s-dr{E lo ffi enc tr{
drr-m orer *.n ?

B,A,D.M,K,YU
(A) D (B) u
(c) A (D) B

90 gkr orw sr6 dfug r

A,E, I, ?,U
(A) A (B) E

(c) o (D) D

NS.1

85 289: 17 ::144: ?

(A) 12 (B) 13

(c) 14 (D) ls

86 Aeroplane

(A) Road

(C) Space

:Ship: ?

(B) Sailor

(D) River

Pilot

87 Neck : Tie :: Shoes : ?

(A) Belt (B) Leg

(C) Band (D) Polish

88 Who is the immediate right of D in the

alphabet ?

(A) M (B) Q

(c) E (D) c

89 Arrange the letters as in dictionary.

which letter would come at the 3rd

place ?

B,A,D,M,K,VU
(A) D (B) u
(c) A (D) B

90 Find the missing letter.

A,E. I, ?,U
(A) A (B) E

(c) o (D) D

t9 P.T.O.



ctfrI ft : NS-l
qFr - II t frflA-+ fr'+or

PART _ II : SCHOLASTIC ABILITY

frfli
SCIENCE

I srs t c6 ftetq q-+,rr ar o@a crqr

er<r t ffi qnir arrl qqrqr c"& ETt {ttrtr
t rqt loe ct5r( 61 6ffic *dr t ?

(A).@tq (B) t-qiltq
(C) ffiq (D) qrFztq

Hrqil-i q flb d-s or vrftff €tiq dot
*

(A) ffsrg ofn tovq
(B) drHsn (c-Q-sT) etr( ffqrg
(C) o-++ ofR fi-{g
(o) rtqre etn o-+o

T<i t ffi eaft fr,rtd srfuo-dc Aft ?

1a)Frotu G-qt) (B) +s

(c) ds (D) rq

fqgd srru d ffi qrqr qrcr t ?

(A) ,*c (B) ttu1lr
(c) S{d (D) {-({

qrqrq qmq d C*q* fr €@r ffi +ff
t?
(A) 44 (B) 46

(c) 45 (D) 47

Grass contains a special kind of
carbohydrate which can not be digested

by human. What kind of carbohydrate

itis?
(A) Glucose (B) Cellulose

(C) Lactose (D) Maltose

Lichen is having symbiotic relation in -

(A) Bacteria and Virus

(B) Protozoa and Bacteria

(C) Fungi and Bacteria

(D) Algae and Fungi

In which of the following, the speed of
the sound is fastest ?

(A) Vacuum (B) Gas

(C) Solid (D) Liquid

I

2 )

3

4

5

3

4

5

Electric current

(A) ohm

(C) Decibel

is measured in -
(B) Ampere

(D) Coulomb

The number ol chromosomes present in
human -

(A) 44 (B) 46

(c) 4s (D\ 47

NS-1 20



6 ql{q arft( A f6-€ otr d E-sS F+& ri$
+ftt ?

(A) qis d Es,S

(B) 6'r{ A Eqq

(C) 6rer d EqS

(D) cqftidr d E--s-S

s-{$-fi-6rur foqr i er c+or t ?

(A) squr ,:lr qs

(B) '3rE ,:lr< qe

(c) c-sur ofn €r{$-"r{

(D) (sqr ,ft orqq srE-ei-Nr{s

s-ql ol c.&-fi-6-er qtd t -
(A) q-fid (B) +tr(

(C) at{dr (D) qg

9 nrtrlao B{R 6I ({ t -
(A) H,SO4 (B) HCI

(C) HNO3 (D) AgNo,

10 qfufifooc-<rd (r'MPro) ftnshernuter
rrqr ?

(A) erffi< Rf\q art

(B) \rsq€ t+< ara

(C) sr.€{ etr tm-* ara

(D) gW qreq{ ar{I

NS.1

7

8

6 Which of the following is a longest

bone in the human body ?

(A) Thigh Bone

(B) Ear Bone

(C) Hand Bone

(D) Ribs

What are formed as a Product in

Neutrilisation reaclion ?

(A) Salt and Water

(B) Acid and Water

(C) Salt and Hydrogen

(D) Salt and Carbondioxide

Renewable source of EnergY is -

(A) Petrol (B) Diesel

(C) Coal (D) wind

Formula of Nitric acid is -

(A) H2SO4 (B) HCI

(C) IINO3 (D) AgNO3

7

8

9

10 Antibiotics was discovered bY -

(A) Alexander Flemming

(B) Edward Jenner

(C) Watson and Crick

(D) Louis Pasteur

27 P.T.O.



11 dBur oPq2*** qg*<3?,rifrb.qnhc
+ff t, 6ri Td qrft t ?

(A) 6g wm q

(B) EqIiiE H {
1s) T{6' i
(D)ft{A + tu q

12 Eu t otr u err6r rrFrr qrm t ?

(A) ttu+ ,rq
(B) tk6 st<

(C) qffft-* erk{

(o) trtffifto srq

13 F{} * frffir vqfko' soffq qr<lffit qrq

Etflt ?

(A) G-6fi (B) +it(
(C) Lpc (D) EETtqn

t4 q.rFs6 qd t qlfid R-.sfrrd a1 get wXr
$-r{ sri d aorc ff qrft t
(A) qqr

(B) ct+{

(C) sistw ,3rt( oTr++{

(D) ots <-e sft( +kqq

15 "d.r" tosfir s#NrEs t ?

(A) Ef{r @) fuftft<r
(C) Fi-6r (D) q6r

NS.1 22

11 Sodium and potassium which are very
reaclive are placed in -

(A) cold water

(B) air tight container

(C) salt

(D) kerosene

12 Which acid is found in milk ?

(A) Malic acid

(B) Lactic acid

(C) Acetic acid

(D) Hydrochloric acid

13 Which of the following is having highest
calorific value of a fuet ?

(A) Wood (B) petrol

(C) LPG (D) Hvdrogen

14 The girls who are facing menstrual
cycle are advised to take food which are
rich in -
(A) Fat

(B) Protein

(C) Phosphorus and Iodine

(D) Iron and Calcium

15 Rust belongs to which oxide ?

(A) Copper (B) Aluminium

(C) Iron (D) Zinc



16 Erftro-qfcff{s d l-ffr @I €tft t?

(A) ffftc (B) s(r$-{

(C) ordq (D) carqqff

t7 iatrss d-cqq i6r gfi wrgrqr t, d Eqb'

ERr Efl;t +dr t -
(a) v-onr q,r v<r+f,c

(B) ctrlsT 5l orr.r&I

(C) c-6lfl or fu*qq

(D) c-6rfl ar rcft+i

t8 srur 16( q-6R d rfh t ?

(e) sfstr rrftr

(B) <f(tl rRr

(c) ++ (A) olR (B)

(o) l.cq t 6ti Tfr

19 r+t t qqttEr wrRro or ssr6-<"r t -
(A) qrko, 6; thorsz

(c) q-frfr (D) qfft$-{

20 etgis-d + gwr: fus qFI ErrI qr<q o,rft
sr{qiffiEs sr< 6-rfr t, qo t
(A) q9 (B) ilfl

(c) gq (D) qitrd

NS.1

16 What is the nature of Metallic - oxides ?

(A) Basic (B) Neutral

(C) Acidic (D) Amphoteric

17 Rainbow is a spectrum which is produced

by

(A) Reflection of light

(B) Refraction of light

(C) Dispersion ol Iight

(D) Scattering of light

18 What type of quantity is acceleration ?

(A) Scalar quantity

(B) Vector quantity

(C) Both (A) and (B)

(D) None of the above

19 Which of the following is an example

of thermosetting plastics ?

(A) Plastic (B) Bakellite

(C) PVC (D) Pollthene

20 Plants take carbon dioxide from the

atmosphere rnainly through their

(A) Roots (B) Stem

(C) Flowers (D) Leaves

23 P.T.O.



2l g-ar go{r qtr +dr t -
(A) Cao (B) CuO

(C) NaoH (D) Ca(OH),

22 q'o foureff d 16 sitdq i'q q( +a t stri
sd +qi+€ (rqrq qe) q1 M w qe r&
ftud tefi trvq a-o ss qrqi +6-dr t d
onffft t te ra tr16 ffi-q dq ar qftqrq

t?
(A) $ Etu Etq

tel s(r{ffi
(C) sqttrdr

(D) Fr6-.& Aq'

23 qrEq qftr ufn dg q,f * d e-qrftof *
+q-d f+.fr fsrls +d t crfr qrft t -
(A)gqcrq rwM
(B) lqrt{+, c-qrM
(C) fugq !-qrlild
(D) sdt { e-qrFdEn

24 dn-m rR er< qd * frq ffiqR t?
(A) Effi-( sr{d'ffiEs Gfr< Tr{i-m{

sr{orw6e
(B) 6r+{ erEmwrfs slR ft+{
(C) qd-{rq otr qffiq-{
(D) 6r+{ erquYwrg sfrt 6r{$-q-{

25 t+ca qre t .ft 6d qrff qq 6r (ft-
qqq qro *ar t
(A) ({E tor
(B) s-mtq tqr
(C) qc{dft tsr
(D) E-{q A qfri {&

NS-1 24

2l Slaked lime is:
(A) Cao

(C) NaOH

(B) Cuo
(D) ca(oH),

22 A student who is sitting at the last bench
cannot see the blackboard clearly, but
when sits infront then he can see clearlv.
What defect is it ?

23 Those species of plants and animals
which are found exclusively in particular
area :

(A) Endangered species

(B) Endemic species

(C) Extinct species

(D) Threatened species

24 Which gases are responsible for Acid
Rain ?
(A) Sulphur dioxide and Nitrogen

dioxide
(B) Carbon dioxide and Methane
(C) Water vapors and Oxygen
(D) Carbon dioxide and Hydrogen

25 Distance - Time graph for the motion
of an object moving with a constant
speed is -
(A) Straight line
(B) Curved line
(C) Parabolic

(D) None of these

(A) Hypermetropia

(B) Presbyopia

(C) Colour blindness

(D) Myopia



26 Tirq d fi-frdr l6s q{ qrft qrft t?

(A) fi--{ qqnT

(B) elqlfi--{ tqrcl

(C) fu€( tqmr

(o)flq t oti Tfi

27 ffir-K 6.r ar o,d t ?

(A) gitd d e-qnr

(B) s{E qqsl' + ttrt
(c) st*r eqr b toc

(D) Tffi or erffir ffii q

28 DNA fr trqtil-d {6r{ t -
(A) qi-{er6r (B) fi-{

(C) Eft-a-c+o (D) rlE-ffiq

29 dq+ f6s qnrr(qq6Icftfitcqc-dlt ?

(A) aiFiqr (B) Efqd
(c) dq d Sflfr (D) sTr{ft(

30 r<i er q6 fu-dq6 qe or s+e-t"r t ?

(A) gu€r6{ur q-d

(B) ffitnq qc

(C) s{qr qd

(D) flt t 6ti Tff

NS-1

26 The intensity of Earthquake is measured

on

(A) Meter scale

(B) Thermometer scale

(C) Richter scale

(D) None of these

27 The function of Vitamin-K is

(A) Protection of eyes

(B) For healthy gums

(C) For healthy skin

(D) Clothing of blood

28 Functional unit of DNA is

(A) Mitochondria (B) Gene

(C) Chloroplast (D) Ribosomes

29 On which part of the eye, the image is

formed ?

(A) Comea (B) Retina

(C) Pupil (D) Iris

30 Which of the following is an example

of Non-contact force ?

(A) Gravitational force

(B) Muscular force

(C) Friction

(D) None of these

P.T.O.25



3l g6' orss eTtft vqn t
1a; A+O erz & (B) 1000 er. t.

1C; Z+0 era * (D) 100 qr. *.

32 ronr si f+-Fr d ffi vrc qr q-.si qr

zz6-qrr-( qFFr ri-. oTre t
(A) oTF]Fie

(B) qrqfud fu<ur

(C) orl-dt&d fo-<ur

(D) q{rqP+d t6{'r

33 nrk+tq frqd t f6sol sq*.r tq-{ +
wtftqerert i
(A) ffis{ (B) AtFiqq

(C) +fftqq (D) dt6r

34 Erg + drt t ftga qru ol q-qr6 ffi qrur

Ekn E I

(A) ff{ (B) aRt{

(c) {+ei{ @) omr€

35 qq'{erft-6 urug { flr sqrq €tdr t ?

(A) clair (B) ffi{
(c) qi{ (D) onrr

NS-1 26

I

31 One hourse power is equal to

(A) 846 Watt (B) 1000 Watt

(C) 746 Waft (D) 100 Waft

32 The light ray. which bounce back from
any surface is called

(A) Normal ray

(B) Incident ray

(C) Refracted ray

(D) Reflected ray

33 Which fuel is used in Nuclear

reactions ?

(A) Oxygen (B) Uranium

(C) Calcium (D) Iron

34 The reason for flowing ofelectric current
in metallic wire is

(A) Proton (B) Neutron

(C) Electron (D) Ions

35 What is same in Isotopes ?

(A) Protons (B) Electrons

(C) Neutrons (D) Ion



36 qrrfre' Trqq ofldrarrrr1 6''q qqm qqr ?

(A) e1 tszo q (B) E1 lset {
(C) q 1822 t (D) 11 182s {

37 t-<t or-ff o-d * sns6 *l
(A) drnd 1n; ffi
(c) 3-{i (D) +{r

39 qrkr tnr ?Ftrsr E+q 16( eft t ffi orn?

(A) lTfr Tfi (B) 1&& vfr
(c) le& sff pl zoff v&

40 'rsqirr6 qqm' T6 drr6-{ t6{ri q{rqr ?

(A) gq-il-q si-tr i
(B) qftqn i
(c) dkm gm i
(D) ff. B{R. of+s6-{ t
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Tltqrfu{, f{fli
SOCIAL SCIENCE

36 The National Archives of India came up
in the

(A) 1820 AD

(c) 1822 AD

(B) l89l AD

(D) 182s AD

37 Haidar Ali was the ruler of
(A) Bengal (B) Delhi

(C) Mumbai (D) Mysore

38 The Tipu Sultan's sword was made of
(A) Stainless steel

(B) Wootz

(C) Silver

(D) None of these

39 In which century did the India's textile
industry decline ?

(A) lTth Century (B) tSth Cenrury

(C) l gth Century @) 20th Century

40 The 'Satya Shodhark Samaj, association
was fbunded by

(A) Mumtaz Ali
(B) Periyar

(C) Jyotirao Phule

(D) B. R. Ambedkar

P.T.O.

38 at SRTI fr a-rrqrr tdr( {-q * {ft ft?
(A) Q:rfrq r&d

(B) T.z-q

(c) qiff

(D) i{q t 6t 'rff



41 firfrsTz 6ti fttrd t ?

(A) ft6R (B) ifrlld

(c) 5-{i (D) qErs

42 "nsar qTffi kqs" 6-s q-q5q1 rm?

(A) 26 qr-{t, 1948 61

(B) 26 crrrR, 1947 fr1

(C) 15 crrre, 1946 61

(D) 16 er.rR, 1946 61

43 ek{q ,3ffi{r sriqto-t o-s 116 S€[r ?

(A) q le30 t
(B) s1 lele t
(c) e1 1922 {
(D) a1 1e29 +

44 1pp6 drt w?

(A) f,< eTrs6

(B) a6gE

(c) qrrqr

(D) cttr6R rrqr

45 'ErGI' tE-{ t+-g qt o'nqr wer qt ?

(A) E{ (B) cg

(c) qrcr (D) &ff

NS-1 28

4l Kalighat is located in

(A) Bihar (B) Bengal

(C) Bombay (D) Madras

42 When did Direct action daY occur ?

(A) 26 January, 1948

(B) 26 August, 1947

(C) 15 August, 1946

(D) 16 August, 1946

43 When did the Civil Disobedience

Movement start ?

(A) 1930 AD

(B) 1919 AD

(c) t922 N)
(D) 192e AD

44 Who was Nagabhata ?

(A) Gupta ruler

(B) Chakrayudha

(C) Malava

(D) Pratihara king

45 'Kharaj' was a tYPe of tax on

(A) Houses (B) Cattle

(C) Trade (D) Cultivation



46 e4 re< tos trqrq dt rrdqrff t?
(a) f+qq-{Irr

(B) Srrd

(c) qqg

(D) E-{i t 6t{ Tff

48 otq-dr E.rt * er t?
(a)ST+4-6rotq ftErt

G) fu_c-ffi {Hq{

(C) ql{q {ifiT{

(D) {icrFfd lf(ltr{

49 d-qrfuqT t6s q-6r$c q ft{rd t ?

1a)qtu (B) cfiTqT

(C) 0r*1'6T (D) Efirqr eTqftor

so guff t rr< m G u-qt o1 wr a-at t ?

(a) u-qqE *rt (B) er*+€

(C) TrTffq (D) erdd

NS.1

46 Hampi was the capital of which Empire
of the following ?

(A) Vijayanagar

(B) Mughal

(C) Mewar

(D) None of these

47 The Sufi master held their assemblies in
their

(A) Temple (B) Courtyard

(C) Khanqahs (D) None of these

48 Coal is an example of

(A) Renewable resources

(B) Non-renewable resources

(C) Human resources

(D) Potential resources

49 In which of the lbllowins continents is

Tanzania situated ?

(A) Europe (B) Asia

(C) Africa (D) South America

50 Energy obtained from the Earth is know,n

(A) Nuclear energy (B) Biogas

(C) Geothermal (D) Thermal

29 P.T.O.

47 qm {id orq-ft n:+rd d 6Ei oildfud

6G&?

(A),ttfi (B) oltr{

(C) sm6r6 (D) E-{q t 6ti Tfr



5l Fmftfu( t t H 'o,rml (f{r' c-6t t?

(A) ei-NE? a1

(B) frt 61

(C) ak 61

(D) dt q,}

52 'Sc-f,n til' t er srFryrq t ?

(A) qrq (B) 6crs

(c) 6ifr (D) S.

s3'rntr trr Hg(' f6-s qrn fr a-5r vrart?

(A) sr-ETfisK

(B) *sr6r

(c) 5qi
(D) ftd

s4 ffi ffi fdq cRr€ t?

(A) +{r (B) &tr

(c) dfr (D) +&{c

55 gd o,r faa-<r cfuird l6wr qrq * ffi
tr(rt?
(A) 40% (B) 25%

(c) l0% (D) 33%

NS-1 30

51 Which out of the following is called

'Black Gold' ?

(A) Bauxite

(B) Diamond

(C) Coal

(D) Iron

52 What do you mean bY 'Golden fibre' ?

(A) Tea (B) Cotton

(C) Coffee (D) Jute

53 Which city is called lndia's Manchester ?

(A) Ahmedabad

(B) Osaka

(C) Mumbai

(D) Delhi

54 What is Kimberley famous for ?

(A) Gold (B) Diarnonds

(C) Silver (D) Platinum

55 Approximately how much area of earth

is covered with grasslands ?

(A) 40% (B) 2s%

(c) 10% (D) 339/0



56 rirr - {flga qre S lai qrd ff or gq
qqffq Er t?
(e) qutr qr.str

(B) c6-.S 6r.{r

(c) q{{
(D) EE

s7 qfirur t fus ttr ol sqt e-sr td ffi ti
(A) *{ (B) qrra

(cl qften (D) qrcr{

58 $sr ofu*ftq (EIE[6r< q{ cei qrq qrt ti ?

(A) rnce (e) qr$-m

(c) A-{ (D) flq t 6U rfr

59 flt t f*.( qrqrft rr< 6I rklttGr '€rft +<'
+dr t?
(A) gnrff (B) (gE d-6t

(c) ffrn c-6-{ (D) 5"rq t 6tt Tfi

60 qrm *' (ftqrc 6r sr6q ffi +qr{

to-qr Qrt?

(A) qfs( q-qrat qro tcs

(B) {6r€r rficff

(C) Erd qogr md

1o; sr. ft. ,urt. cT+56-(

NS-1 37 P.T.O.

56 What is the main occupation of the people

living in Ganga-Brahmaputra basin ?

(A) Fishing

(B) Lumbering

(C) Mining

(D) Agriculture

51 Which country has the largest railway

neNvork in Asia ?

(A) China (B) India

(C) Pakistan (D) Japan

58 Where are tropical evergreen forests

found ?

(A) India (B) Brazil

(C) China (D) None of these

59 Which is the Japanese word which means

'Harbour waves' ?

(A) Tsunami (B) Sea wave

(C) Ocean wave (D) None of these

60 Who drafted the Indian Constitution ?

(A) Pt. Jawahar Lal Nehru

(B) Mahatma Gandhi

(C) Lal Bahadur Shastri

(D) Dr. B. R. Ambedkar



6l E{} t frt{ sr {a,rr6 t'r t ?

(A) tuG{

(B) *s(
(c) aff-garq

(D) ftifiqr

62 rq futnfuor q* q.kri"sd an ,Ttqer drq

+dr t?
(A),i* G) turq6
(c) g@q-S (D) t (ff

63 gq. sm. c. ol Wf w qortir

(A) ftry crftrort 6r v(s.

(B) t{em rqr t wcs

(C) olfrroR trr rrnFT tl+ qr& orlr .i*
(D) fl+ + +i Tfi

64 e1trtr*q qlfdr t{ss tnGr rFrr{ enr tl
(A) 8 orq-d (B) s qrd

(C) 8 qr-{ft (D) 8 orrrR

65 Ekia qrtr * cEc cqnq* drc t ?

(a) e-qreadrd t6F

(B) dre <rrgr wd
(c) ffi iftIl rirft
(D) gc-f,rt ind iEr

NS-1 32

61 Which one of the following
communicable disease ?

(A) Headache

(B) Cancer

(C) Cough and Cold

(D) Jaundice

is a

62 Who is the head of the Cabinet in State
Legislature ?

(A) Minister (B) MLA

(C) Chief Minister (D) All of these

63 What is the full form of MLA ?

(A) Member of Law Authority

(B) Member of Legislative Assembly

(C) Minister of Law Abiding Authority

(D) None of these

64 When is International Women's Day
celebrated ?

(A) 8th April

(C) 8th January

65 Who was the first Prime Minister of free
India ?

(A) Jawaharlal Nehru

(B) Lal Bahadur Shasrri

(C) Mrs. Indira Gandhi

(D) Guljari Lal Nanda

(B) 8th March

(D) 8tr August



66 Fti t er qr< *' ffqqn or law t?

(A) drk6 o{ftror

(B) t+Trq

(c) 'T$qr{il
(D) sqtrft €tff

61 €s-< 6r sqt {-Er d {Fdl 6r qftftRrd

o-rtr t, st wr o-a qrot t ?

(A) cI6 nrTr

(B) arrq qqr

(C) €wq rfi
(D)r{i t 6H r-ei

68 st( fr-fl * t+ac 6r{i 6-s E=fi err ?

(A) 200s (B) 2006

(c) 200'7 (D) 2oo8

69 cs. sflt. srR. (FIR) dr{ fuqdr t ?

1a; q{6-d 6ff
(B) gtu(

1c; effo

(D) Ecorft Tffd

70 qrfiq €fuqn ft f6q ot-sd( t orqwar

a1 vqrq tocr i
(A) irg+< 16 (B) ,3r5*< l8

(C) irgdq 28 (D) or5+'( 17

NS-1 33

66 Indian Constitution contains

(A) Fundamental rights

(B) Discrimination

(C) Inequality

(D) All of these

68 Law against Domestic Violence was

made in this year -
(A) 200s (B) 2006

(c) 2007 (D) 2008

10 Which is theArticle of Indian Constitution

that states that Untouchability has been

abolished ?

(A) Article 16

(C) Article 28

(B) Article 18

(D) Article l7

P.T.O.

67 The Upper house of Parliament.
representing the States. is termed as

(A) Lok Sabha

(B) Rajya Sabha

(C) Parliament House

(D) None of these

69 Who register the FIR ?

(A) Fireman

(B) Policeman

(C) Lawyer

(D) Public Prosecutor



7t qf< x = (-l) x (- r) x (- 1) x..........2s

qR, r=(-s)x(-3)x(-3) *, d
XY= 

-

(A) 17 (B) 27

(c) 26 (D) -26

qtE 24.125=24*A + B * C 
"r.l0 I00 1000

fi l+ B+C dr rI14 Etrtr

72

(A) 3 (B) 6

(c) 13 (D) 8

73 q6 ot{ ff {"i d@r t cil t6 452 * qfrq
qq l1 t fqqrq d?

(A) 4s0 (B) 451

(c) 460 (D) 462

74 qft 1 Ei, d x:_.XI
23

3(A) 
4

4(B) t
J(C) --'4

4
(D) _J
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4
(D) _J

I

IrFrd

MATHEMATICS

7t If x = (-1)x (-t) x (-l) x..........2s

times, y = (-3) x (-3) x (-3) , then

XY=

(A) -2't

(c) 26

(B) 27

(D) -26

,BC
72 lf 24.125=24+ n + +-.l0 100 r000

then ,4a ga6'

(A) 3 (B) 6

(c) 13 (D) 8

73 The whole number nearest to 452 ar.d
divisible by 11 is

(A) 4s0 (B) 4sl

(c) 460 (D) 462

74 If 1, then X
X1
23

3(A)4

3(c) -;

4(B) ;s



75 qft 3x =6s61 e], d lx-3

(A) 81 (B) 243

(c) 72e (D) 27

16 ftt rqr.n ftqq€@rsil or *q 81 t, d
A-E srft ri@r qtt{ ff *,ft?

(A) 2s (B) 27

(c) 31 (D) 2e

qR
I

-=3:4:5 d, d a: b: c 6t
c

qr;I Erfr 6-t t

(A)20:15:12(B)5:4:3
(C)9 : 12 : 15 (D)12 : 15 :20

78 qiE o r*q sI-S 6'I qu 108 tq+ t, d
108 3To-sl ar {q gra rt r

(A) t 171 (B) ? 1s3

(c) < 162 (D) { 180

19 qtc (ffrr d oTrqd 1t,oo0 Eci tl
qe srqft enr<ft 6,1 55% qqd rren t,
d ss+ Eru ftFe qri srd 6d fr Tq-qI

dtuqt

(A) < 60s0 (B) < 74s0

(c) < 4es0 (D) < 3ss0

11
-:-ab77

NS-1 3s P.T.O.

75 lf 3x =6561, then 3x-3

(A) 81 (B) 243

(c) 72e (D) 27

76 The sum of three consecutive odd

numbers is 81. The middle number is

(A) 2s

(c) 31

(B) 27

(D) 2e

77 lf l,l,l =3:4:5. then a: b: c:
abc

(A)20:15:12(B)5:4:3

(C)9 : 12 : 15 (D)12 : 15 :2O

78 If 6 dozen eggs are bought for { 108.

How much will 108 eggs cost ?

(A) < 171 (B) < 1s3

(c) < 162 (D) < 180

79 Ravish saves 55% of his income. If his

income is < 1 1,000, then his expenditure

is

(A) < 60s0

(c) < 4es0

(B) < 74s0

(D) t 3sso



80 ft+ Tt frrd +, qft AB li CD d,
d x st{ y ar an o-tr

58..)

(A)X:21,Y:28
(B) x - 21, Y: 38

(c)x-38,Y:21
(D)x:22,Y:38

C
D

B

81 cft 25 .r.*a,= I +- EI, iII x ?5T IIFI itql

82 qft ffi eq ol t+*r< T@ ssh m.,q {@

d.n ?

(A) 5

(c) I

(A) < s0

(c) so%

(B) 13

(D) 17

(B) 20%

(D) 2s%

* i - d, d cq or qrrr cfuird d.n -

Y'

79,.,

3Xo
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I

80 In the given figure, if AB I I CD,

the value of X and Y are

58(,

E

A B

(A)X:21,Y:28
(B)X-21,Y:38
(c)x:38,Y:21
(D)x:22,y:38

C D

)t
)i
)l
)i

81 If 1*2 =1+a, then x is144 12

(A) 5

(c) I

then profit oZ is

(A) { s0

(c) 50%

(B) 20o/o

(D) 25o/o

(B) 13

(D) t7

82 If S.P. of an article is of its C.P..
3

2

Yo

790

3Xo



a

83
7.87x7.87 -1.72x1.72

615 ol qFr iFrr *ln ?

84 w m.qgSq 6l +*rr-d Frd 6t, ffi
fu6"ff d qrq 8 tff srt{ 6 tff t
(A) 48 qri tft
(B) 32 qf tft
(C) 20 q,i tft
(D) 24 e.l tft

(B) 10

(D) 6.4s

6r qrq qrdi6 w t wr

(A) e.5e

(c) 6.ls

85
[{t., 

r }-']
+r?

(A) (-2)-4 1n) (-2)4

(c) (-2)

86 a{+tdr;rgaiw* a2 +ab+bc+ca 6t
gqnqq-s ftII?

ie; (6+c)(c+ a) 1ey @+b)(a+c)

(c1 a(a+b+c) @) (a+6)(6+c)

5 ,,(i)'

NS-1 .t/ P.T.O.

7.87x7.87 -1.72x1.7283 The value of IS

(A) e.5e

(c) 6.ls

6.15

(B) l0

(D) 6.4s

84 The area of rhombus whose diagonals

are 8 cm and 6 cm is

(A) 48 sq. cm

(B) 32 sq. cm

(C) 20 sq. cm

(D) 24 sq. cm

85 The value of
[{r-r '}-']-'

exponential form is

(A) (-2) o 
rsl (-z)o

ln

(c) (-2)s (D)
I

4

2

86 Which of the following is equal to

a2 +ab+bc+ca ?

(a) (D+c)(c+ a) 1s1 @+b)(a+c)

(c) a(a+b+c) (o) (a+b)(b+c)



)
xc

ax

ax

7
( (c+a)(D+c)a+b

tf)87 X x

51 qrq drn

(A) I

(L) f,

f(A) 
- 

I7z cmz
2

@+f"#

(B) 0

(D) abc

88 qfe 22x-Y = 32 oft{ 2x+Y =16 d,

dt ,2 *y2 6l qrt +qr

(A) e (B) l0

(c) ll (D) 13

89 oqq.6wq-z5qfr 5-qr'p'tftd, dcu-or
Aqrd*,n -

G) 2.J1 f ctr?

(D) 6 f cm2

90 qft a: g :3 : 4atn e : C:5 : 6
d, d a' c 6r rrFr drfi

(A)5:e (B)3:4
(c)1:2 (D)s:8
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87 The value of

is equal to
(A) I

(c) *otu

r{]t""' " l.,'I'-'), r,' ]('*")[,'.] ["J [,"J

(B) 0

(D) abc

88 rf 22x-Y = 32 and 2x+! =16,

then 12 * yz i" equal to

(A) e (B) l0

(c) 11 (D) 13

89 The side of a regular hexagon is 'p' cm,

then its area is

6)+lc,.2

@+ f cnt'z

G) 2.8 i ctrP

(D) 6 f cm2

90 If A: B :3 : 4and B : C:5 :6,
then A:C is

(A)5:9 (B)3:4
(C) I :2 (D)s:8



ql{k6 {t {dr
qY;I nt 3d{

1 I] 46 C

2 t) 41

3 I]

I)

5 ll 50 l)
6 I) 51

7 B

B 53 i)
I) 54 II

10 55 (l

11 B 56 C

12 57

13 5B (

14 59 (l

15 I} 60 (l

16 (l 61 I]

C 62

1B B

19 64 (l

20 (l 65 C

21 66 t)

22 t] 67 B

23 (l 6B tl

24 I] 69 C

25 7A

ll 71 t)

27 72 tl

2A (l 73

29 14 L)

30 t) 75

31 I] 76 (

32 I) 77 tl

33 7A I}

34 (l 79 B

80 (l

I] B1 I]

I) B2

3B B3 (l

39 B4 I)

40 B5

41 I) I]

42 tl B7 tl

43 l) 8B

B9

(

45 90 (l

ld {r{
qT-I F sd{

I]

2 t)

3 (

B

u

7

B I)

I (l

10

11

tl

I)

14 l)
15 C

16

17 C

1B B

I]

20 t)

21 D

22 t)

23 B

24

25

26 C

27 D

2B li
29 I]

30

31 C

32 t)

33 B

34 C

35

qrqrfwo Gen
qY;I F cd{

36 I]

t)

3B u

39 C

4A C

41 I]

42 L)

45 t)

46

47 C

4n tl

49 C

50 C

51 C

52 L)

53

I}

B

56

57 B

5B I]

59

60 t)

61 C

62 C

63 B

64

65

66

67 I]

6B

I}

7A D

qFro

q{{F g cd{

71 I]

tl
ll

75 tl

76 tl

77

7a (l

79 (l

BO tl

81

(l

B3

B4 I)

B5

B6 tl

87

BB I]

B9 I]

90 I)

.'

\6
,y\

rr{ls rft{ oq tfte arrl q0er zozo z't

q0en fuqi6 26.0s.2o21 (srr* {d)
rrlqfuf, ?{t [f,r

CrrTl q{r m

C

C 49

I

17

26

I)

35

36

37

C

B6

(l

1

5

6

I)

12

13

37

43

44 D

54

I)

il

69

72 l)
73

74

(l

B2

ffi"'
"td'


